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Simplify the square root. If it is already
simplified, just say "already simplified."

/4 4 STOP| Ts the number a perfect square?

Since it is not, we need to find a perfect square factor of 44

/4 . /11 I find that 4 is the largest perfect square that is a factor of 44

Split the square root into 4 and 11, because 4 x 11 = 44

The square root of 4 is 2, so you are done.
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Simplify the square root. If it is already
simplified, just say "already simplified."

STOP| Ts the number a perfect square?
Since it is not, we need to find a perfect square factor of 252

I find that 36 is the largest perfect square that is a factor of 252
4 and 9 also work, but 36 is larger, so that's why we use it.

Split the square root into 36 and 7, because 36 x 7 = 252

The square root of 36 is 6, so you are done.
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Simplify the square root. If it is already

simplified, just say "already simplified."

V174

STOP! Ts the number a perfect square?

Since it is not, we need to find a perfect square factor of 174
1is the only perfect square that is a factor of 174.

These are the only factors of 174: 1,2, 3,6, 29, 58, 87, 174

Don't use 1 if it is the only perfect square factor. Leave it alonelll
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Simplify the square root. If it is already
simplified, just say "already simplified."

3 /150 STOP| Ts 150 a perfect square? Ignore the 3 for right now

Since it is not, we need to find a perfect square factor of 150.

3- /25 . /6 I find that 25 is the largest perfect square that is a factor of 150

Split the square root into 25 and 6, because 25 x 6 = 150

3-5 / 6 The square root of 25 is 5. Multiply 5 and 3, and you are done
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Simplify the square root. If it is already
simplified, just say "already simplified."

2 /289 STOP! Is the number a perfect square? Ignore the 2 right now

YESITISI 289 = 17 So replace itlll

2 . 17 Multiply the 17 with the 2 that is in front, and you are done.




